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1. wﬁm@mﬁ?ﬁm/wwmmﬁ%ﬁw:

1x8=8
Answer the following / Choose the correct
answer :

(a) R IO TP F9?

Which of the following is a regressive
tax?

(i) SRR9/Income tax
(i) TR F/Gift tax
- (ifi) R&F F9/Sales tax
fiv) 7if& I3/ Wealth tax
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(2)

(b) °IATE IS
in indirect tax
(i) TSR T4 WO I IR AW
taxpayer bears impact only
(i) ISR F@ TAS AF WS L(SILIEY
324 FRI AR :

taxpayer bears both impact and
incidence of taxes

(iii) FITOE (T I WIS I IR 77cst
taxpayer bears incidence of tax only

fiv) FITOR, FT WO AE AN GCINF
T2 TR AR

taxpayer bears neither the impact
nor the incidence of taxes

(0 T @wE it TR R’ A e
woe ?

Who among the following is associated
with the principle of ‘maximum social
advantage’ ?

() @WK/ Wagner

(i) 1%’ /Pigou

(iij) (%571 Dalton

{iv}) (V%R /Taylor
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(3)

(d) IR ST mel {2
What is horizontal equity of taxation?
fe) TR IE LI IS T T

Which of the following is not an
administrative revenue?

(i) JpA
Fees
(i) S G
, Licence fees
(i) &R
' Fine
(iv) ¥
Tax
() TR W TR AT ARCMT T T 2

Which of the following is not a method
of repayment of public debt?

i) ARes R
Sinking fund

(@) T
Capital levy

(i) FARIFIA.
Conversion

(iv) TPRAER 9
Value-added tax
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(4)

(g GST3I 7 ot 2
What is the full form of GST?

() g Re SR el 24

The Chairman of the 14th Finance
Commission is

(i) WR. & o
R. J. Chelliah

(i) . REREA
C. Rangarajan

(i) R e
Vijay Kelkar

(iv) S I I
None of them

2. o & @ SfRER 5y el forn (afScht 150 =@
foswe) : 4x4=16

Write short notes on any four of the following
{(within 150 words each) :

(a) TR AR Te
Sources of Government Revenue

(b) TIE=A T
Public Goods



(S)

fc % Re

Deficit Financing

(d) REE e e

Indian Finance Commission

(e) TR I[ Q=

Burden of Public Debt

oo 2R e o (2T 500 - f5e9)
Answer the following questions (within 500 words

each) :

3. (o) PR R @ fm =R R wF IeTe

(®)

4. (a)

8p/210

e TS 41 NYIPTZ TACABA FW 1 2+9=11

Define public finance. Discuss the
differences between public finance and
private finance.

9431 /Or

sl e WER S/fifts e R
Sifechr Irm 34 | 1n

Explain the principles of ‘maximum
social advantage’ of public finance.

9 7 1 SRIPER IR 0 | 2+9=11

What is tax? Explain the objectives of
taxation.
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(b)

S. (a)

(b)

6. (a)

(b)

8P/210

(6)
{1 /Or

TR TS AfRR ST ogthl fbu e
M 0| S §

Explain the modern theory of incidence
of taxation with diagram. .

“IreRRl FRFRI 9T QSR 1 SR ¥ 2
& woefn | T 6+6=12

“Internal public debt is burdenless.”

Is the statenmient correct? Give reasons.

_T /Or

R ¥R J0 e R R s v
JRCTA TRPTRY RSy Seeme F1 4+48=12

What are the main objectives of public
debt? Discuss the methods of repayment
of public debt.

HIIR RO A 77 | ITSH 2@EFIR Ricw
*RTPTR SR 41 | 4+7=11

Define Government Budget. Discuss the

different stages followed in preparation
of budget.

9 /Or
TR W B2 S (PR IR
AT ST B 90 2+49=11

What is fiscal policy? Explain the

objectives of fiscal policy in developing
countries.
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(7))

7. (a) SROW IT IR WCIRITHR I F41 | WiF
74 R (TR @R AR | 8+3=11

Explain the defects of Indian tax system.
Give your suggestions to remove these
defects.

5|qr /Or

() SASI 30d4-3v T FEW IWEHI AW
RFEPTR S A | 11

Discuss the main features of India’s
Union Budget for 2017-18.
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